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® Logarithms & Exponential

® Differentiation
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Applications of Differentiation

To find the rate of

change of a variable

with respect to another To determine the
slope of the curve

To determine
Maxima - Minima
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1. To find the rate of change of a variable with respect

to another.
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2. To determine the slope of the curve
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Case 1: Increasing Slope, Concave Up

Variable
Slope
Case 1: Increasing Slope Case 2: Decreasing Slope
Graph: Curve bending upward (concave up). Graph: Curve bending downward (concave
Slope behaviour: Increasing . down).

Interpretation: At lower levels slope is easy

. Slope behaviour: Decreasing

(gentle). As you go up, the slope becomes . Interpretation: Starts with a higher slope and

tougher.

. ends with a lower slope.
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Case 3: Increasing Steepness, Concave Down

Case 3: Increasing Slope (Inverse)

Graph: Decreasing curve starting from a high.

Slope behaviour: Increasing (in steepness as it
descends).

Case 4: Decreasing Slope (Inverse)

Graph: Decreasing curve that flattens
Slope behaviour: Steepness Decreasing

Interpretation: Starts with a higher slope

Interpretation: At higher levels slope is easy and ends with a lower slope.

(gentle). As you go lower, the slope becomes
tougher.
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3. To determine Maxima - Minima
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Integration

To Calculate the
To calculate
average value of
area under curve :
function

£(x)







STAY CONNECTED
__KEEP LEARNING _
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Join our telegram channel
@NEXTTOPPERS_SCIENCE




